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Решение:
Подставляем 
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Находим частные производные:


[image: image6.wmf](

)

(

)

[

]

(

)

(

)

(

)

22

22

22

22

2222

1

220

1

12

222

11

Ф

TrTrT

rr

T

TrTTTTr

nnaa

a

aa

naan

aa

¶¶

éù

=×-××-×-××W+×W×-+=

ëû

¶¶+×W

×W-×W×

éù

=×-××--××W-×W×=××--

ëû

+×W+×W



[image: image7.wmf](

)

(

)

[

]

(

)

(

)

2222

22

11

2210212

11

2

2

1

Ф

TrTrTr

Tr

nnana

nnaa

a

n

a

¶¶

éù

=×-××-×-××W×+=×-××-××W=

ëû

¶¶+×W+×W

×W

=×-×-

+×W


Полный дифференциал:
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Приравниваем полный дифференциал к нулю, и находим 
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Ответ:
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